~ |INSTALLATION INSTRUCTIONS
- - FOR shower Seat Models C&D

Before installing,please read
the instructions carefully in
order to install and use this
product safely.

Note:

The structure and installation
method for Model C is the
same as for Model D.

MODEL C MODEL D
Spare parts List:
_) @ Main body for shower seat
L J w=—— (@ 8 x60mm rawlplug
— ———— (@ 5x60mm expand screw

iy —— @ Fixing board
4 ) N

® 5x8mm Hex socket Grub Screw

Installing steps:

A keep the plane of Fixing board [04] towards the wall and place it on the wall level ( Note: the edge with three
holes of Fixing board [04]should be up) and the recommended upright height from the bottom of Fixing board
[04] to Floor is 400-500mm. Mark down the screw holes and take down the Fixing board [04] so as to drill five
holes with the depth of 60mm and diameter of 8 mm and place the rawlplug [02] into the holes.

B .Put the Fixing board [04] onto the original place once again and screw down the expand screw[03] and fasten
them.

C.Button the Main body for shower seat [01] downwards absolutely from the upper part of Fixing board [04] until
the inner side on the bottom of Main body for shower seat [01] touches the wall and keep the pedestal made of
aluminium alloy material on the Main body for shower seat [01] and the two ends of Fixing board [04] orderly.

D.Screw down two pcs of 5*8mm Hex socket Grub Screw[05] inserted on the underside of Main body for shower
seat [01] with the supplied Hex socket spanner.

Packing List:
Serial No. Name of components QuantityRemark
01 Main body for shower seat 1
02 10*60mm rawlplug 5
03 8*60mm expand screw 5
04 Fixing board 1
05 Hex socket spanner 1
06 Instructions 1

Important:

1.Safe Working Load 160 kilogram.
2.If the Supplied Screws/Raw plugs are not Suitable for Installation you must select

appropraite ones.



